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B sz K % OUT = IN ' GR | HDCP | NET ] B sz K £ OUT = IN ' GR | HDCP | NET ]
BB il HmE 38 41 79 84 70.6 RXRYOE 31 J\Kk Bz 46 47 93 | 16.8 76.2
#8 BE B 48 44 92 120.4 71.6 32 HEHE 5h#R 51 | 54 1105 | 28.8 | 76.2
3 BE AR 41 45 86 [ 14.4 71.6 33 AR 55 | 50 [105 | 28.8 | 76.2
4 ME EA 41 48 89 [ 16.8 72.2 4 SR BE 49 49 98 |21.6 76.4
5 MT HERB 50 | 44 | 94 1 21.6 | 72.4 3% KRR HfE 52 | 46 | 98 | 21.6 | 76.4
6 K5 EHE 50 | 53 103 | 30.0 | 73.0 36 KT < 49 55 104 | 27.6 76.4
7 Et@B & 43 41 84 110.8 73.2 37 ®ok fEZ 50 | 47 | 97 | 20.4 | 76.6
8 BEHE KB 46 49 95 | 21.6 73.4 38 AK#t 7 47 50 97 |20.4 76.6
9 kB & 41 42 83| 9.6 73.4 39 AW BR 48 49 97 | 20.4 76.6
10 BE ‘& 44 43 87 [ 13.2 73.8 40 = HE 46 45 91 [ 14.4 76.6
11 & 9T 44 43 87 [ 13.2 73.8 41 Fh 1EAE 49 47 96 [ 19.2 76.8
12 AR # 47 45 92 118.0 74.0 42 IER BR% 42 48 90 | 13.2 76.8
13 &% # 42 38 80| 6.0 74.0 43 A% RAE 48 47 95 [ 18.0 71.0
14 /&R KA 38 | 47 | 85 /10.8 | 74.2 44 "R Fl=E 48 51 99 | 21.6 71.4
15 Ry B 42 43 85 10.8 74.2 45 IR AR 49 44 93 [ 15.6 71.4
16 AE IR— 37 | 48 | 85 | 10.8 | 74.2 46 IEE kA 46 46 92 [ 14.4 71.6
17 #&x S8l 43 42 85 /10.8 74.2 47 BE F= 50 | 48 | 98 | 20.4 | 77.6
18 FH FA 40 45 85 /10.8 74.2 48 Z=H BL 54 | 53 107 | 28.8 | 78.2
19 R E& 40 44 84| 9.6 74.4 49 Tk IEF 51 | 50 [101 | 22.8 | 78.2
20 A =& 42 42 84 | 9.6 74.4 50 Efr =B 51 | 49 1100 | 21.6 | 78.4
21 A IEfR 46 48 94 1 19.2 74.8 51 /o8 BB 62 | 52 114 | 34.8 | 79.2
22 Rl =85 45 48 93 [ 18.0 75.0 52 1t& #H 56 | 50 106 | 26.4 | 79.6
23 KHE —=X 41 45 86 | 10.8 75.2 53 B EX 58 | 59 117 [ 36.0 | 81.0
24 B BiE 53 | 50 (103 | 27.6 | 75.4 54 FHE 1Y 55 | 49 1104 | 22.8 | 81.2
25 #Bh EH 50 | 47 | 97 | 21.6 | 75.4 55 EBEE &A 60 | 58 118 | 36.0 | 82.0
26 W@ & 42 47 89 [ 13.2 75.8
21 & B 43 52 95 119.2 75.8
28 EI& A 50 | 50 [100 | 24.0 | 76.0
29 BE ®A 44 44 88 [ 12.0 76.0
30 #HE =M 49 44 93 | 16.8 76.2
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